.     Starter    .
Differentiate the following:
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.     Find the gradient at a point    .

The derivative tells us the gradient of a curve at any point. 
By substituting in x values the gradient can be found

Remember: The gradient of the TANGENT and the FUNCTION (curve) 




are the same at the point
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The gradient when x = 3 is 
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The gradient when x = -2 is 
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Calculate 
[image: image14.wmf]dx

dy

 when         x = 0,


x = -2,


x = 3

Be careful of notation, and negatives  eg f’(-2) means what?  
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